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Crrw : 2% wanfl | [ Qurés WHLQUETEET : 100
Time Allowed : 2% Hours | [Maximum Marks : 100
SMeyenr 1 (1) Doarsg) eSlamTsaEnhd Flwurs HFH1 LHeuTd o TS eTaTLISma

sfluriggis Qararereyb. ssliudaila Gopudmlitess wmns
seimarenfluumerfiLb 2 L enquins Gsflefsseay. .
2) Beb @dag smiy ewuimern wEECW WEMSHEGL LLEUDSS
Geuam(Hid. UL MIFET auanreusn@ Guensld LwemlBHdseyb.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) Use Black or Blue ink to write and pencil to draw diagrams.

@Oy : @Qeuelanngsrer preng G fleysemens Qareimg).

Note : This question paper contains four sections.

lfley - I/ SECTION -1
(wfluGuamser : 15) / (Marks : 15)

@Oy : ()  @udfleded 2 arer 15 efanriaEns@n ellanweldsab. 15x1=15
(i) Gar@GssiulL preng wrHn el sefe Wseayb sflwrer ellaeanw
CahEs(BEsl eTpsaL.
Note : (i Answer all the 15 questions.

(i) Choose the correct answer in each question. Each of the questions contains
four options with just one correct option.

1. A={p q 1 s} B={r s t u} eafle, A\B=

(1) tp gt (=2p) {t u} (@) {r. s} () {pgrs)
If A={p, g, 1,8}, B=lr, 5, t, u}, then A\B=
@ f{pa (b) {tu} (€ f{rs} () {p g 15}

[ Amiys / Turn over



June 2014 ‘ www.tnschools.co.in

4323 ; 2
2. 1,12358, ... eramm Ggri euflensufen 8 cug o miy :
(1) 25 () 24 (@) 23 () 21
The 8t term of the sequence 1, 1, 2, 3, 5, 8, ......... is :
() 25 (b) 24 © 23 @ 21
3. a, b, ceranuan g QuEESs QgrLit auflesulicy 2 cremen erafled ;:l:: =
) 2 () 2 2 :
(o) 2 ) ; @) (")
If a, b, c are in G.P. then ?): ; is equal to :
a b a el
(a) 5 (b) # (c) : @ 3
4. keNeayb Gurg ak ak+3, ak+5 o dwisupiler 8.Qumr.o
(1) ak+? (@) a* (@) 2k () ak+s
The LCM of a¥, ak*3, ak+3 where k e N is :
(a) ak+9 (b) ak (C) akto6 (d) ak+?o
5. 49 (Z—2xy+1?)” -an euits b
. y+y?)" - euiTEs epeold
() 7 =yl () 7(c+y) -y (@) 7 (w+y)? (%) 7(x-y)*
The square root of 49 (x2— 2xy +32)° is :
(@ 7x-yl (b) 7(x+y) (x—y) () 7 (x+y)? @ 7(x-y)?
11 . .
6. Ax[o 2]:(1,2) erafléd A e euflens
(=) 2x1 (=21)2%x2 (@) 1x2 (FF) 3x2
11
IfAX[O 2]=(1,2),then the order of A is :

@ 2x1 () 2x2 (€ 1x2 (d) 3x2
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(a, —b), (3a, 5b) Aw yareflzmer GavemsGl Crr&Gar_ (s gy e
BHLLeTaf
(1) (-a 2b) (<2) (22, 4b) (&) (2a 2b) (7) (-a —3b)

The mid point of the line joining (a, —b) and (3a, 5b) is :
(@ (—a 2b) (b) (2a, 4b) () (2a 2b) (d)y (—a —3b)

(0, 0), 2, 0), (0, 2) P yerafgenmed enwowb Ww&ECaremddler LgLiL

(=) 1 e ()2 suEsa () 4 so@adr (1) 8 & o@Esa

Area of the triangle formed by the points (0, 0), (2, 0) and (0, 2) is :
(a) 1sq. units (b) 2 sq. units (<':) 4 sq. units (d) 8 sq. units

AB, CD eramuen g el LgHen @(m mramaser meweu B Luu@ibGurg P - &
spdaflanmes wHMD AB=5 Q&.15. AP=8 @g..5 CD=2 Gs.5 eraflés PD=

(<=1) 12 Gla.1B (<2)5 Qo8 (@) 6 Qe.8 () 4 Qa.d

AB and CD are two chords of a circle which when produced to meet at a point P such
that AB=5 em, AP=8 cm and CD=2 cm then PD=

(@) 12 cm (b) Sem {c) 6cm (d) 4cm

B augQeaurss waCsrammseiien snpareyser wapGu 24 GF.5, 18 Qg5
aang. s WwsCaramsdar m ussd 8§ Qs eafld, wLHApTH
W&Carangdlen SH@G @SS LSSD

(=) 4 Q&8 (<=4)3 Q&8 (@) 9 Qs.8 (m) 6Qs.8

The perimeters of two similar triangles are 24 cm and 18 cm respectively. If one side of
the first triangle is 8 cm, then the corresponding side of the other triangle is :

(a) 4cm () 3cm () 9cm (d) 6cm
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11.

12,

13.

14.

15.

4

(cos?8—1) (cot?0+1)+1=

(20) 1 (<) -1 @) 2 (F) 0
(cos?0—1) (cot?0+1)+1=

@ 1 (b) -1 (© 2 (d o
sin (90°—8) cos 8+ cos (90°—6) sinf=

(i) 1 (<) 0 @) 2 () -1
sin (90°—8) cos 8+ cos (90°— ) sinf=

@ 1 (k) O (€ 2 @ -1

@ Cara.gdan euemeruriy 36m #.0s.15 erafle, igen sa1 a6y
(=) 127w Qa5 (=) 367 Qa5 (@) 727 Qa5 (/) 108w Qa3

If the surface area of a sphere is 36w cm?, then the volume of the sphere is equal to :
(a) 127 emd (b) 36w cm® (c) 727 cm? (d) 108w cmd

e yerefl efleurslen S eflevdsid 1.6 eTafle, igen efllowss cursss symafl :
(1) 0.4 (<=1) 2.56 (@) 1.96 (F) 0.04

If the standard deviation of a set of data is 1.6, then the variance is :

(2) 0.4 (b) 256 (© 196 (@) 0.04
&6 208 Hapsfllean fspsse, :
(=1) 1 (<1)0 (@) 100 (/) 0.1

Probability of sure event is :

@ 1 b)) 0 (¢} 100 (@ 0.1
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(wHUQueiTsar : 20) / (Marks : 20)

GPuY : () Qurssd uszk danssEnse o wallssayb. 10x2=20
(i) oflenrm erawr 30 & sevwTLurs el wellEsab. wsd 14
dlenrssaiclmig aGsab 9 amssmarg Csie) Galwayw.
(i) eeauQeurp eflemmaih@b @reaw® wHUGUETSEET.
Note : () Answer 10 questions in all.

(i) Question number 30 is compulsory. Select any 9 questions from the first
14 questions.

(iii) Each question carries two marks.

16. U={4, 8, 12, 16, 20, 24, 28}, A={8, 16, 24} wdHmd B={4, 16, 20, 28} araled,
(AUB)' pmib (AnB)' @ dweiheans srars.

Let U={4, 8, 12, 16, 20, 24, 28}, A=1{8, 16, 24} and B=|{4, 16, 20, 28}.
Find (AUB)' and (ANB)'"
17. eniy f:[-3,7) > R Spésamm-eurn  auemrunssiul Hareng).

4x2-—1; -3=x<2
fx)=13x—-2; 2=x=<4
2x—3; 4<x<7
e cu(meuaTeUDanDS SHTawTs.
f®)+f(6)
A function f: [-3, 7) = R is defined as follows :
4x?-1; -3=sx<2
flx)=43x—-2; 2=sx=<4
2x—-3; 4<x<7
Find :
fB)+£(6)

[ Himuys / Turn over
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18. 5+11+17+...... +95 eTanp Fal (M GsrLfle erdsenen o miseT o drerar ?
Find the number of térms in the arithmetic series 5+11+17 +......... +95.
: -4 a3 —-a
19. &GS :

a?—1 £ +2x%
2_4 a’-a
a? -1 x*+2x2

Simplify :

8 5 2
20. A=(1 e 4} araflé, AT wppib (AT) epdlueupenns sras.

8§

5 2 :T
4 T
1 _1a 4], then find AT and (AT)".

IfA=[

32 : 8 -1 : ; . :
21 Ax(s 1] hHmib B=(4 5 ]GI'GGﬂGU C=2A+B cranp iemflens srews.

3 2 -
LetA=[5 1]and B=[i 31} Find the matrix C if C=2A+B.

22, @m el LHar eowwid (—6, 4). L FHen g AL sHer qm tpome
pAligaret eresflled, LHGLTME (penemaniLs STeis.

The centre of a circle is at (—6, 4). If one end of a diameter of the circle is at the origin,
then find the other end.

23. (-2 3) eranp ydrall aunflF Geweugid, smie] }3: 2 oL wiglloren Gpr Gumiigem

L EDETUTL NG &TeuTs.

Find the equation of the straight line passing through the point (-2, 3) with slope %
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. . . AD_2 . . .
24, AABC-& DE||BC whmd DB -3 AE=37cm erafed, EC ;6 srams.

5
d AD 2 If AE=3.7 cm find EC.

In AABC, DE||BC an DB 3"

25, 25 et~ tand orer B
. Trong sech — tan mieys.
1—sind
Prove — = secf — tan®-
1+ sin®

26. seaufler smissy emeaussuulL @@ geflurarg e e 60° Caramsans
ghu@sadng. geiuler g seuphdmbg 3.5 B gmsda o drerg erafle,
genflien Bersensd sranTs.

A ladder leaning against a vertical wall, makes an angle of 60° with the ground. The
foot of the ladder is 3.5 m away from the wall. Find the length of the ladder.

27. 14 Q&8 uss erey Qarari @ saré sgrsHampg, Wel Quflu (BLGUm
C san Saneyerer) Gamerd Geully er@asLuBEDng crafed, SiECaresden Har
DTG HTEHTS.

The largest sphere (with maximum volume) is carved out of a cube of sides
14 cm. Find the volume of the sphere.

28. (g 10 Quidb eramaafler HL dlewsad srems.

Find the standard deviation of the first 10 natural numbers.

29. 20 &L(p&safld 1 psd 20 cuampuerer (p(p TS GH&SUUL HeTener.
swamiiy weapuie® e FLG e@ssiu(deamg. eueurn erGiEslulL
Sl gyener erefr 4 6 WLBIGTE Q(HES HEDSH6| TS,
20 cards are numbered from 1 to 20. One card is drawn at random. What is the
probability that the number on the card is a multiple of 4.

[ Hgsliys / Turn over
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30. (=) (r—2a) (x—2b)=4ab erenm Q(HUgF FOGTUT g6 (PEOBIFETEHT SEmenLoamILIG
STEHRTS.
S0

(<) @@ Samo epr&Garearsdan Qorgs Lnliuriy 6757 &. Q&LB eTerfled g
umaTUFIENLIS SHTaRTS:.

(a) Determine the nature of the roots of the equation (x —2a) (x —2b)=4ab.
OR
(b) Total surface area of a solid hemisphere is 6757 sq.cm. Find the curved surface
area of the solid hemisphere.

19fley - 111 / SECTION - IIl
(ndLQuarser : 45) / (Marks : 45)

@Y : () Owrssh geg camsseEnss e uaissab. 9x5=45
(i) ellerm eraw 45 5@ sewgliuns e wallGsayb. WP 14
emmssafldlmbg TCsab 8 damssmars Gaiey Qaiueyb.
(i) @aQeurm lammeldEd BHg wHLQUETSET.

Note : (i) Answer 9 questions in all.
(if) Question number 45 is compulsory. Select any 8 questions from the first
14 questions.

(iii) Each question carries five marks.

31, Qauer LLmisees LweTUESS A\(B U C)=(A\B) N (A\C) erengyb lg. omiseafer
saw efgSuns edfulemans &fl Lrdsayib.
Use Venn diagrams to verify De Morgan's law for set difference.
A\(B U C)=(A\B) N (A\C).

32. A={6,9,1518 21} ; B=(1, 2,4, 5 6} wpmyid> f: A - B crenug) fx)= %mm
aumUMISSELILIL g pLbler sriy f- &
(=) @AbysEHu b (<) suflenss Gergseaflen sard
(8) Il euenent (7) euenyuLib g flwcupiien ppeid @Ghléseyld
Let A=1{6, 9,15, 18, 21} ; B={1, 2, 4, 5, 6} and f: A — B be defined by f{x)= 3‘-;—3

Represent f by :
(a) an arrow diagram (b) a set of ordered pairs
(c) a table {d) a graph
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34.

35.

36.

37.

38.

39.
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2+4(3)2+6(5)2 +8(7) 2+ ............. +22(21)2 eratp Qgr_fMen snpBemes sSres.
Find the sum of the series 2+4(3)2+6(5)2+ 8(7)2 + ..., +22(21)2
T+T77+777 + e eremm GgrLfé n e glysaiiar am@sd srams.
Find the sum of first n terms of the series 7 +77+ 777+ .........
1023 +37x2— 602 + 36 - 61 UTHES APLFEMES STRTS.

Find the square root of :
1t —10x3 +37x% — 60x + 36.

3xf-6x+1=0 erenp sETUT Q6 ppomaE o B aald, EhésTap b
pPOmISENeTS ClETERTL FDETUM(HEEHET Beninds

(@) <, (@)%, P (@) 2a+p, 2B+a

W

If o, B are the roots of the equation 3x2 —6x +1=0 form an equation whose roots are :

(a) %é d 2B, P () 20+B, 28+«

5 2 2 -1
A=(7 3] DD B=(71 i ] erafled, (AB)T=BTAT srenueng sfumissab.

5 2 2
IfA=|, ,|and B= _y q | verify that (AB)T=BTAT.

AABC - an (penenigat A(2, 1), B(6, —1), C(4, 1) erans. A WeBBE auemuliu@in
@556 Carligen FnaTUN L Srans.

The vertices of AABC are A(2, 1), B(6, —1), C(4, 1). Find the equation of the straight
line along the altitude from the vertex A.

4x+3y—12=0 erenm CriGsrLmang x LOHML y SFG&ESmar Geul_{bLdralsear
wpeanGu A wpmid B erafle), psGarenmd AOB - &1 LFLLETEMEIS STETS.

The line 4x + 3y —12=0 intersect the x, y-axes at A and B respectively. Find the area of
AAOB. )

[ sy / Turn over
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40. Glacieusd ABCD - & 2. yp yetefl O - elefl@phg QFcucussien wpeenasar
A, B, C, D @eveméasliul_(Herarar erasildd OAZ+OC2=0B2+0D? eran [Hmeas.

A point O in the interior of a rectangle ABCD is joined to each of the vertices A, B, C
and D. Prove that OA2+0OC2=082+0D2

41. Gpigssrer o wrsden Guaursd srpdlenmd whlbs, bwphbs LGS
ECu eflupmbgieflmod, wrsHer o &8 senquyLan 30° Caramsans T HURSSEDS.
wrgdlen o &8 sigen Siquialmbgl 30 S Qgrenweier senraws QsrHE g
eTalled, LIEHe (PP L WTEMmss ETEs.

A vertical tree is broken by the wind. The top of the tree touches the ground and

makes an angle 30° with it. If the top of the tree touches the ground 30 m away from
its foot, then find the actual height of the tree.

42. gafl waverewTl LWETUBHSSE @m Wwrameie 48 Gg.05 2w 12 Q&5 eyrapld
Qarapr Cri eulLflamod sabarus QFLSTT. 2i&HmbeoU WHEDTE Wwrareui
@ Hewrnd Garerors wrphlerTr. oeuern wroplulL U Carergdlenr
WTSMEE ST,
Using clay, a student made a right circular cone of height 48 ¢cm and base radius

12 cm. Another student reshaped it in the form of a sphere. Find the radius of the
sphere.

43. @O uglLlbhe pLisuulL Qurg SiflasCsieala Qurss wHiCuaTeE
40 - & 6 wremeuirser QuDD LHUCLeTEET 20, 14, 16, 30, 21 WLHMID 25. @qursrﬂ
afleurgdlen L efedad Hmehms.

A test in general knowledge was conducted for a class. The marks out of 40, obtained
by 6 students were 20, 14, 16, 30, 21 and 25. Find the standard deviation of the data.

U parg soasg AGSH deaussiulL 52 SLHssmas Carare SLHS&
sUigellmiBg sweumily wenuild em FLO ahssLuBing. ABSE FLE
#wCGuLrsGeur (Spade) wd@g @rrerarsCar (King) Q@mUughHaTan
Hapsseienans srams.

A card is drawn at random from a=well - shuffled deck of 52 cards. Find the probability
that it will be a spade or a king.
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45. (=) srrefllLu@SSIs 1% —5x% —2x+24.
360608
(=) @@ S Cuir aulL 2 pevemullen Qs LnUuriy 231 £.66.85 oigen
auamerurUy Aorgs Upuugibe epearfler @ran® urkiE erafle, gen
SYTD LDHID 2 WITSMEGS FHTERTs.
(a) Factorize : x>—5x2—2x+24.

OR

(b) The total surface area of a right circular cylinder is 231 cm2. lts curved surface
area is two thirds of the total surface area. Find the radius and height of the
cylinder.

Yfley - IV / SECTION - IV
(LHLQuerser : 20) / (Marks : 20)

@oy : () @u9flele o arer peubeurm efemmellayd @ream@ wrbm eflenTése
Qar(dsliul_(Hererer. 2x10=20
(i) geaGerm ellamelgibd 2 drar Gram® wrHm efarrsallalmbs
slamencug CaibOsBss Q@ elamssersan elmwallésayb.
(i) @ealeurm lamelpEn Uss wLHIGLETSET,
Note : (i}  This section contains two-questions, each with two alternatives.

(ii) Answer both the questions choosing either of the alternatives.
(ili) Each question carries ten marks.

46. (=1) 10 Qe.18 L pemer eul L b cuenss. aul L sHlen erwwsdlemng 13 Qs.8
Qgreneveiler P eremp Leraflenus @hss <iuueralllealmbe el LsHbE
PA wpmbd PB eramp Qer®Casrad cuemrbgl isen Bemmisamerd
S EE 5.
RATNENY:
(<) AB=6 Q5.8 £C=40° wpmb 2 58 C - Wl HHg AB &@ eueruliLL
©5815 Cam_igen Barb 4.2 Q.5 Qsrawr. AABC euenrs.

(a) Draw a circle of diameter 10 cm. From a point P, 13 cm away from its centre,
draw the two tangents PA and PB to the circle and measure their lengths.

OR

(b) Construct a AABC such that AB=6 cm,”£C=40° and the altitude from C to AB
is of length 4.2 em. )

[ $pliys / Turn over
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7. (@) y=x>+3x+2 - @ UL aueny&. Sesl LWeTLHSS x2+2x+4=0
GTEND FOETUTL 0L S STéSeuLD.
R [NV
(<) e Cumpgl waafllsg 40 §.8 Cassdeo Goadng. @snElu grr-sra
GerLmndhsrar euanTULLD auenrs. Glers LweuBsS 3 wentl CrriHd
@UCLmEg LwelSs SITGmes S,
(a) Draw the graph of y=x2+3x+2 and use it to solve the equation x? +2x+4=0.
OR

(b) A bus travels at a speed of 40 km/hr. Write the distance-time formula and draw
the graph of it. Hence, find the distance travelled in 3 hours.

-00o-



